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Correction de béta oxydation du DM n°7 du 01/11/2021  
 
 

 
 

 

 

QCM 1 : C 

A) Faux : 18 C : (18/2) - 1 = 8 
8x2 + 8x3 + 9x3x3 + 9x2 + 9 = 148 ATP 
B) Faux  
C) Vrai  
D) Faux  
E) Faux  
 
QCM 2 : A 

A) Vrai : 148 ATP – 2 LHE = 146 
B) Faux  
C) Faux  
D) Faux  
E) Faux  
 
QCM 3 : C 

A) Faux : 20 C : (20/2) - 1 = 9 
9x2 + 9x3 + 10x3x3 + 10x2 + 10 = 165 ATP produits  
165 – 1 = 164 
B) Faux  
C) Vrai  
D) Faux  
E) Faux  
 
QCM 4 : E 

A) Faux : 165 – 2 LHE = 163 
B) Faux  
C) Faux  
D) Faux  
E) Vrai  
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